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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330721904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330721905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330721906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330721907 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330721908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330721903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e e ® ek formera ® 202223 99 F WA aIRohedrd, Feard, defied, fhhe iR 2w
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330721904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470
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Question Number : 2 Question Id : 5330721905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330721906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330721907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330721908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 53307280
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330721909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330721909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330721910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330721910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330721911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330721911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330721912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330721912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330721913 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330721913 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330721914 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330721914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330721915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330721915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330721916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330721916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330721917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330721917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330721918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330721918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330721919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330721919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330721920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330721920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330721921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330721921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330721922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330721922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330721923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330721923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330721924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330721924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330721925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330721925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330721926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330721926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330721927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330721927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330721928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330721928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330721929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330721929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330721930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330721930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330721931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330721931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330721932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330721932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330721933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330721933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330721934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330721934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330721935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330721935 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330721936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330721936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330721937 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330721937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330721938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330721938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330721939 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330721939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330721940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330721940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330721941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330721941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330721942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330721942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330721943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))
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Question Number : 40 Question Id : 5330721943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330721944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330721944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330721945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330721945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330721946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330721946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330721947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330721947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330721948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330721948 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 53307281
Question Shuffling Allowed : No

Question Id : 5330721949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330721950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330721951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330721952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330721953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : S0 Question Id : 5330721954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330721949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330721950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330721951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330721952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330721953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gorEs o 1 0 § o waem o e 3 U 9 A o e #5802

(1) TreRe, drigrst 9 gt
(2) foreRe, diEmST 9 gfen
(3) e, fFwe T Trem
(4) TFFe, Fea= e

Question Number : 50 Question Id : 5330721954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grEve B 1 T § 19 |1 96 U THE I el 1 S 5 S o ?

(1) TaH

(2 w=

(3) SHRIEE

(4) =T

Home Science

Section Id : 53307228
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 53307282
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330721955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The traditional textile which is mordant and resist block printed on both sides (of the fabric) with
geometrical motifs with a strong grid pattern in the shades of blue and red.

(1) Ajrakh

(2) Sanganeri
(3) Rogan

(4) Bagh

Question Number : 51 Question Id : 5330721955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Te U FIS e S SR (FUS F) Al 2R o T ° Heen 9@ F U2 F iy s
fesiza o 41 sieer 3fR wfa Teii =omr v = ST § )

(1) =TSRE
(2) HI
(3) T
(4) ™

Question Number : 52 Question Id : 5330721956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which textile finishing process, the surface fibres are burned off to produce smooth surface ?
(1) Raising
(2) Singeing

—

3) Calendaring
(4) Sanlorizing

Question Number : 52 Question Id : 5330721956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFm e fwfo gfskan ¥ Tt @ae a9 % T 92 % =Tel 9o o 91 ol STl S € 2

(1) &

(2) fEfEm

(3) s

(4) FIERERET

Question Number : 53 Question Id : 5330721957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fabrics prepared by two layers of fabrics combined onto one fabric with foam.
(1) Bonded fabric
) Laminated fabric
(3) Coated fabric
)

Poromeric fabric

Question Number : 53 Question Id : 5330721957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<l FUSI T TAE F SSH dIR TH1 TA FHIL FEATIE

(1) =iEE F9

(2) e foFan g3m Fue
(3) hifee fman g3n F9e
(4) ORI FHIE

Question Number : 54 Question Id : 5330721958 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following is the characteristic Motif of the Kullu shawls ?
(1) Kalash

(2) Swastika
(3) Panbhat
(4) Chinar leaf

Question Number : 54 Question Id : 5330721958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefafaa & I Fm-m Fog vt = faftme T (afew) €72

(1) e
(2) R

(3) TN

(4) AR w9

Question Number : 55 Question Id : 5330721959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not the “probability method” of sampling ?
(I) Systematic sampling

)  Stratified sampling
(3) Cluster sampling

) Quota sampling

Question Number : 55 Question Id : 5330721959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § 4 &M gfa gvH =1 Saregar fafy”’ == 72
(1) woTctias widey/ gfa=aa

(2) HEiFa gfaeeH/ afa=Ea

(3) o gfdeyE,/ gfa=em

(4) o gfaeei/ gfd=ma

Question Number : 56 Question Id : 5330721960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Generous bustline, shapely waist, pronounced hips are the characteristics of :
(I) Round body type

(2) Pear body type
(3) Diamond body type
(4) Hourglass body type

Question Number : 56 Question Id : 5330721960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SR/ aRgUl STreet Y, et I, gge fAae fadmad ®
(1) e H2re YRIT 9K

(2) TR THT IR WEHR
(3) TNE YRR YR
(4) He ¥ TR THER

Question Number : 57 Question Id : 5330721961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The three sewing machine parts which together constitute the drop feed mechanism are :
(1) needle, thread take—up lever, presser foot

(2) presser foot, throat plate, feed dog
(3) Needle bar, spool, feed dog
(4) Bobbin, needle, throat plate

Question Number : 57 Question Id : 5330721961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e oena & 9 U S foest 39 fhe = gomet a9 € -
(1) g3, 9 ¢F-379 foaay, IR Fe

Question Number : 58 Question Id : 5330721962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In research, means simply taking things for granted so that the situation is simplified

for logical procedures.
(I) Hypothesis

(2) Assumptions
(3) Tenability
(4) Postulate

Question Number : 58 Question Id : 5330721962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oy H 1 Afur =ffs1i K1 g 98 WA o T fefa arfeher fafeei o fom wvefiga ©
(1) 9T

(2) Ul

(3) deREa

(4)  SAFEToT

Question Number : 59 Question Id : 5330721963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In 1973, Henry Mintzberg provided one of the first comprehensive studies on :
(1
2
3
i

Scientific Management

—

The nature of managerial work
Styles of leadership

The wealth of nations

—
T o o

Question Number : 59 Question Id : 5330721963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1973 #, &4 fiwstant 9 01 W vgen =ar9eh STegad wegd TR .
(1) S Ja=e

Question Number : 60 Question Id : 5330721964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The management function of Management by Objectives under Policy and Planning Techniques
used in Management of Public Organizations is :

(I) Policy making

(2) Planning and decision making
(3) Planning and controlling
(4) Planning, decision making and controlling

Question Number : 60 Question Id : 5330721964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST T o Ferer H SRE ia T ATeHT Gkl o STRRT 3€9al g UereH e €
(1) ffa famion

(2) s - A ue fAeih-uiE

(3)  Frs-Tamio e e

(4) e fmio, Frofg-gfsean o fra=m

Question Number : 61 Question Id : 5330721965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Well planned accent lighting puts the focus on :
(I) Lighting source

(2) Lighting fixture
(3) On desired objects
(4) On work surfaces

Question Number : 61 Question Id : 5330721965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) erTs &

(2) w9 frEed
(3) difed axgel ™
(4) M HaE W

Question Number : 62 Question Id : 5330721966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Walk-in bathtubs can be good options for those with :
(I) Limited mobility

(2) Individual user
(3) Average adult with good range of motion
(4) Individual using a wheelchair

Question Number : 62 Question Id : 5330721966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ak -39 19 259 39 foiu o= fasreyd & Tehd & fomd /=i & -

(1) ifa H=rer

(2) AT SIANTET

(3) =irga e forek darem & 4 o=t ©
(4) = =R ITAN T S A

Question Number : 63 Question Id : 5330721967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Public Provident Fund Account deposits are qualified for Income Tax Rebate under :
(1) Section 80 L of IT Act

(2) Section 80 DD of IT Act
(3) Section 80 CCA of LT. Act
(4) Section 88 of LT. Act

Question Number : 63 Question Id : 5330721967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS sifers iy @l o s (Teuifsed) e 92 & foau 9 & s1=ria 9 € -
(1) =E2r sAfufFad & 9/ 80 L

(2) e srfuftaw = & 80 DD

(3) =g sAfufTam =+t 9™ 80 CCA

(4) e srfufam F o 88

Question Number : 64 Question Id : 5330721968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is not the part of components of Investment Portfolio ?
(1) Financial Investments
) Cash funds
(3) Defensive Investments
)

Aggressive Investments

Question Number : 64 Question Id : 5330721968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefag & | = 91 969 §9r % 92eh] o1 Tk 9 A6l 8 ?

(1) fosia faw
(2) eHar feit

(3) varrensR fHere
(4) TR e

Question Number : 65 Question Id : 5330721969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In static continuous exertions :

(1) Blood flow is itregular
(2) Blood flow is fast

(3) Blood flow is normal

(4) Blood flow is diminished

Question Number : 65 Question Id : 5330721969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wiferer Taa aftadi F .

(1) %R yame SAfataa g @
(2) R yare defe 2 @
(3) ER yare 9 B ©

(4) R WATE T g A §

Question Number : 66 Question Id : 5330721970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fﬂllnwing is not a teclmique for noise reduction at source ?

(1) Use of quiet machines

(2) Enclose noisy machines
(3) Using ear-plugs or muffs
(4) Regular maintenance of machines

Question Number : 66 Question Id : 5330721970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafas & | R TF1F, Biq W Hleled H =1 el Hidl ?
(1) 9= AT =1 98

(2) SFICTEEYUl WA I HeRT FHEA]

(3) SIN-TETH Y HIEH N FAM

(4) WA =1 Frafra we@-wEE

Question Number : 67 Question Id : 5330721971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

World Diabetes Day is celebrated on :

(1) 12t November

(2) 13t November

(3) 14" November

(4) 15™ November

Question Number : 67 Question Id : 5330721971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fava Ay (eEf@s) foom A S @
(1) 12 Fawal =
(2) 13 FETER F
(3) 14 o= H
(4) 15 v

Question Number : 68 Question Id : 5330721972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A group of genetic disorders of haemoglobin synethesis which result from a defective rate of synthesis
of one or more of the globin chains, but there is no defect in the amino acid structure of globin
chains.

(1) Methemoglobinemias

(2) Thallasemias

(3) Agammaglobinemias

(4)

Aminoaciduria

Question Number : 68 Question Id : 5330721972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST G & SAF fasfadl o1 T fad Tefaq S & UF a1 o7fuew & H@yeram & fagfa
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Question Number : 69 Question Id : 5330721973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utensil to keep food hot without actually boiling by standing the dish containing the food in a
large pan filled with water which is kept just below boiling point is called :

(1) Casserole

(2) Hot case
(3) Steamer
(4) Bain - Marie

Question Number : 69 Question Id : 5330721973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA TH a1 U oA oy a8 o) U o2 9 H @ oo W@ 9 € S gae foig @ % aome
F T H a1 S ¥ 1 SH 9 F el I

(1) FEe
(2) @R F"
(3) Em

(4) IF-HE

Question Number : 70 Question Id : 5330721974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of packaging method is used for extending the life of food products by changing the
atmosphere surrounding the food inside the package ?

(1) Aseptic Packaging

) Shrink Wrap Packaging

(3) Modified Atmospheric Packaging

) CPET Packaging

Question Number : 70 Question Id : 5330721974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rt o siey wEreend % Famern § ufiadE % gr W o G et § gis B TgE TR o yER
FA-T1 & ?

(1) ergfs Temfem

(2) Hepfaa 19 Yerfam

(3) fafia amarereiE SefsT
(4) H i g 2 TS

Question Number : 71 Question Id : 5330721975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one is the property of Hemicellulose ?

(I) indigestible and insoluble in water

(2) indigestible but soluble in water
(3) on hydrolysis yields galacturonic acid and small amounts of galactose and arabinose
(4) Highly fermented by colonic bacteria

Question Number : 71 Question Id : 5330721975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHIHSEAE 21 T[UIEH -9 ?
(1) 9l 3mSR SAfered

(2) =T9r=" oig U H faem
(3) ST T B W TRl TS 3eq= B a1 %8 A H e a9 s 3o gt ©
(4) et AEfE gr gl " feva fern S ©

Question Number : 72 Question Id : 5330721976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AJ:nDng the following cryogenic qu uids, which ]iqui[ied gas has an Exl_temely low boili_ng point ?

(1) Freon

(2) Liquid Nitrogen

(3) Liquid Carbon Dioxide
(4) Liquid Helium

Question Number : 72 Question Id : 5330721976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa st ga ¥ 9 weisa | &1 auams fog s &9 2 e ?
(1) foram

(2) T TAEerSH
(3) A e SRATERS
(4) W dfeam

Question Number : 73 Question Id : 5330721977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When we eat meal some compuunds do not get metabolized, they instead become special molecules

called :
(I) Ligands

(2) Metabolomes
(3) Proteomics
(4) Genomes

Question Number : 73 Question Id : 5330721977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@ B9 W G € o T v 1 Sured T ue €, 39k Sed o Ty o7 99 S € feRe et S

(1) faies

(2) THEEATH
(3) WAy
(4) sfFE

Question Number : 74 Question Id : 5330721978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

All persons throughout life, as indicated by the Recommended Dietary Allowances need :
(1) the same nutrients in varying amounts

(2) the same amount of nutrients in any state of health

3)

(

(4) different nutrients in mixed amounts

the same nutrients at any stage in the same amounts

Question Number : 74 Question Id : 5330721978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRR SR Heith el & STE weft safadt @ Sfed # frefefea i sravesan e €
(1)  STCRT-3TeRT JE H =6l 9 oo

(2) e | e fedr o feafa # 61 \E0 # 9o a9

(3) Tors off T R SHT A H 9 # U 9o

(4) Tafaa =en § fy=-fy= 9we a9

Question Number : 75 Question Id : 5330721979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of Extension Education ?
(I) Heterogenous learners

(2) Choice of subject matter is with learners

3)

(
(4) Teaching with the help of local leaders

Fixed curriculum

Question Number : 75 Question Id : 5330721979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas o 4 = o fowar foen 0 e fafoea 78 €2

(1) foewi fasmef

(2) forog =g = =@ foranefE % 99 @
(3) Truifa a=g #0

(4) T IS % WA ¥ UET

Question Number : 76 Question Id : 5330721980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following is not a criteria for effective learning ?

(I) Learning should be general in nature

(2) Learning should engage maximum number of the senses of the learner
(3) Learning should be challenging
(4) Learning should result in functional understanding

Question Number : 76 Question Id : 5330721980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafea § 9 @ @ vt foreror =1 wF Ao € 82
(1) e wyre ¥ I 91 2 e

(2)  Toraror =1 oranelf o stfereram <aAietl w1 = TE ey
(3)  Tareror &1 gfarget g =feT
(4) oo = SO THEERT # wiawe g1 =fEy

Question Number : 77 Question Id : 5330721981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first step in Extension teaching is :
(1) Interest

(2) Satisfaction
(3) Action
(4) Attention

Question Number : 77 Question Id : 5330721981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o Toneror <51 wem e ©

(1) ®f=
(2) T
@) fF
4) =M

Question Number : 78 Question Id : 5330721982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the nature of personnel involved which one of the following is not a type of channel
in communication ?

(1)

2)  Impersonal localite
3)

(4) Impersonal cosmopolite

Personal localite

p— p—

Personal cosmopolite

Question Number : 78 Question Id : 5330721982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FftisF Aftiea 29 F1 W F A79R Freafafe § @ uF J0r S gomed &1 TR T6 2
(1) A T (SR

(2) efFEE T (dFarE)

(3) SAfFE faveAnie (FEHdeEe)

(4) FrAfFaE favarTies (FwaHdese)

Question Number : 79 Question Id : 5330721983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which one of the following is not a group method of communication ?
(1) Result Demonstration
) Exhibition
(3) Field Day
) Study Tour

Question Number : 79 Question Id : 5330721983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas & ¥ M ST %1 UF Y YOt 7T § 2

(1) 9iom fEgo
(2) eI

(3) &7 feom

(4) T W

Question Number : 80 Question Id : 5330721984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a non-projected visual aid ?

(1) Chalk Board

(2) Bulletin Board
(3) Flip Chart
(4) Puppet Show

Question Number : 80 Question Id : 5330721984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas & | % v deEedE (37 deEee) 399 9E T © 2

(1) =ieF &re
(2) FAfeA A
(3) e =e

(4) FSYAC H A=

Question Number : 81 Question Id : 5330721985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following is not a category of adopters ?
(1) Early Suggestors

@)
(3) Early Majority
(4) Late Majority

Early Adoptors

Question Number : 81 Question Id : 5330721985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § § #1 U -8 1 wF goft 72 72
(1) IR wEreeR

(2) WRfYe goe-TErd
(3) WiRfeR TR (3Tel HeiiNe)
(4) foers | e (F 7EiE)

Question Number : 82 Question Id : 5330721986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One of the reasons due to which Extension programs fail is :

(I) Commitment to goals

(2) Recognition of limiting factors
(3)  Authoritarian management
(4) Use of strategies for change

Question Number : 82 Question Id : 5330721986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WeF R 5y foean sy srwe 8 82
(1) @& % 9fd afdega

(2) Hwia T2H A TEdH
(3) AR Tei
(4) UREdA e WHifaal 1 gERT

Question Number : 83 Question Id : 5330721987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The genetic endowment inherited from a person’s biological parents at conception is :
(1) Environment

(2) Heredity
(3) Maturation
(4) Conception

Question Number : 83 Question Id : 5330721987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T =R fEE i & Sifaekra wra-faan 9w s fAfa §

(1) wEfErRm

(2) ATETERT
(3) Ot
(4) THIEE

Question Number : 84 Question Id : 5330721988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of learning appropriate social behaviour chiefly by observing and imitating is known

as :

(I) Cognitive learning

(2) Reinforcement

(3) Conditioning

(4) Observational learning

Question Number : 84 Question Id : 5330721988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEd: YT ST TR R S/ Sfad WISt Sqaer Wi T WAt o S S €
(1) HIHEHF Aferm

(2) waEd
() g
(4) DR StferTy

Question Number : 85 Question Id : 5330721989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The single cell which divides again and again and is the beginning of life is :

(1) DNA

(2) Autosome
(3) Zygote

(4) Chromosome

Question Number : 85 Question Id : 5330721989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tehe] TR Sl aR-oR fauifsm 2t & ofN S5 Siad & 3y o & 39 8l a1 €

(1) &
(2) HEEH
(3) TR

(4)  SRTHSIH

Question Number : 86 Question Id : 5330721990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The period from conception to implantation of the embryo is called :

(I) conception stage

(2) Embryonic stage
(3) Fetal stage
(4) Germinal stage

Question Number : 86 Question Id : 5330721990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T § YT % ST KT STafY I BT SROT Fl S © 2
(1) e (FHIH) =W

(2) Yot (Tremifes) =

(3) 99 (W) =0

(4) quitd SHME (SOHA) =0

Question Number : 87 Question Id : 5330721991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which part of the body develops more quickly than any other organ in E'.:u'ly childhood ?

(1) Limbs
(2) Head circumference
(3) Brain
(4) Heart

Question Number : 87 Question Id : 5330721991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

vd FeraehTel § T S S 1 gor W IR 61 S | S sifes virgan 9 fassfug @ €7
(1) =T R (fawem)

(2) fE= e
(3) WIS
(4) w&A

Question Number : 88 Question Id : 5330721992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Kohlberg which level of moral reasoning is based on the person’s own moral
standards ?

(1) Conventional

(2) Pre conventional
(3) Beginning
(4) Post conventional

Question Number : 88 Question Id : 5330721992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et o FTHR e T H, e fan safem & om Afaes AR o s B @ 2

(1) HRAT

(2) YE-TRET
(3) YRy

(4) ST

Question Number : 89 Question Id : 5330721993 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The first step of any parent education program is to find similarities between a group of parents by
developing which one of the following ?

(1) Communication

(2) Eye contact
(3) Therapy
(4) Rapport

Question Number : 89 Question Id : 5330721993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et stfsmerek forem STeshm 1 9UW =01 SIfYWTEehl % T G¥E o ofd QA 1 9l TRt 0 # 9
frg fosma &3 €72

(1) HgT

(2) A fHemER
(3) SER

(4) Hsy

Question Number : 90 Question Id : 5330721994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per classification of Mental Retardation based on what IQ score, a person is considered as
profoundly mentally retarded ?

(1) 50
2) 20
(3) 35
@) 70

Question Number : 90 Question Id : 5330721994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS g UTlieh UL SATHIA HIAHeh W oF IR0l o SATHR fohd 1% 3 § oA el sAfad bl quid: WHTEE
e qfg o1 A A S ?

1) 50
2) 20
(3) 35
@) 70
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Question Number : 91 Question Id : 5330721995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the processing of linen in correct sequence :

(A) Harvesting

(B) Drawing

(C) Retting

(D) Spinning

(E) Rippling

Choose the correct answer from the options given below :
(1) (A), (©), B), ©) (B)

@ (A, (B), ), B). D)

@) (B, (A), D) (©), )

4) (A), (B), (O), (D), (E)

Question Number : 91 Question Id : 5330721995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A T IR 1 HE ST § Yo Hife ;

(A) TEA FT
(B) =T
(C)

(D) e

(E) 0 (fraferm)

= feu T faehedi § | W@ ST R =IE Hf
(1) (A), (©), E). (D). (B)
(2 (&) (B), ©), (B), D)
3 B, (A), D) (©) (B)
@) (&), (B), (©). (D) (E)

Question Number : 92 Question Id : 5330721996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Steps to be followed in sequence for planning and creating new designs :
(A) Make a plan

(B) Set the goal

(C) Carry out the plan

(D) Examine the relevant outside influences

(E) Evaluate

Choose the correct answer from the options given below :
(1) (D) (A), (E), (O (B)

(2 (©),. (BE) (B), (D), (A)

(3)  (B), (D), (A), (O), (E)

(4) (A), (B), (O, (D) (E)
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Question Number : 92 Question Id : 5330721996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 fesei 1 drern oir gom & frefates =l & 98 o9y ©
(A) IS A

(B) @A fAeifta e

(C) ST St s

(D) TR ame GuTEl T S

(B) WEIHT LA

9= feu 7o fawmedi W | WE I F =TI FIfAU
(1) (D) (A), (E), (O), (B)

(2 (©), (E), (B), (D), (A)

3)  (B), (D), (A), (O), (E)

4) (A), (B), (), (D), (E)

Question Number : 93 Question Id : 5330721997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Arrange the steps in the manufacture of Cellulose Xanthate solution.
(A) Ripening of viscose and filtration for the removal of foreign particles
(B) Deaeration

(C) Reaction with carbon disulphide for conversion to alkali-soluble cellulose xanthate and
dissolution in dilute alkali

(D) Reaction with strong alkali, known as steeping and shredding into small crumbs or lumps
(E) Ageing of alkali cellulose for lowering the degree of polymerisation.

Choose the correct answer from the options given below :

(1) DO) () (©), (A), (B)

2 (©. (D) (E). (B), (A)

(3)  (®B), (©) (D), (B), (A)

@) (A), (B), (©), D) (E)

Question Number : 93 Question Id : 5330721997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el SHeE Wegy o Fwior & =2l o geafiera #ife ;

(A) famrr 1 g 3T FON 1 g2 & foe s

(B) TrafdieRTm

(C) &NE-facr Fqes AT § TWaw B FeH SEaeFERS & A fifn oit a3 am 7 fases
(D) <ira &R ¥ foran fo@ S < o 92 & frage oi arsiieher & &9 # 9 ©
(E) OIGHLIeRTor sl 71 &l &0 & o o e Goes & s

e feu o foreredl & 9 T ST F = FE

(1) (D), (E), (C), (A), (B)

(2 (©), (D), (E), (B), (A)

(@) (B), (O), (D), (E), (A)

4)  (A) (B), (O, (D), (E)

Question Number : 94 Question Id : 5330721998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the five phases that constitute Strategic Human Resource Management process.
(A) HR strategy formulation

(B) Identify HR strategies

(C) Scan the Environment

(D) Monitor and Evaluate HR strategies

(E) Identify the sources of Competitive Advantage
Choose the correct answer from the options given below :
(1)  (B), (A), (D), (E), (O)

(2 (©),. (E) (B), (A), (D)

(3)  (A), (E), (C), (B), (D)

(4) (©), (B) (A), (D) (E)

Question Number : 94 Question Id : 5330721998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

q UfE Sfaed S WEae 2, WA Y eE gfE 5 5§ S e @
(A) TH HAR W giqared

(B) T R I i TEE

(C) vAfeRo &1 Saeli

(D) T 3R WOl ol Al T8 qodic

(E) Tk oY & Edi bl Fe ™ HEl

= feu U fomredi § 9 WE I A T4 FE
(1) (B), (A), (D), (E), (O)

(2 (Q), (E), (B), (A), (D)

@) (A), (B), (©), (B), (D)

(4)  (©), (B), (A), (D), (E)
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Question Number : 95 Question Id : 5330721999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stages of group development in sequence :
(A) Performing
(B) Norming
(C) Forming
(D) Adjourning
(E) Storming
Choose the correct answer from the options given below :
(1) (B), (A), (B), (D), (C)
@  (©. @A), B), D) (E)
(3) (©), (E). (B), (A), (D)
4) (A, (B), (B), (©), (D)

Question Number : 95 Question Id : 5330721999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e fasm F Tl ®1 %A | T
(A) TCRITHT

(B)

(C) R

(D) wssHfHT

() w@IfH

e feu o foeredl & | T S F = T
1) (B, (A). B). D) (©)
2 (©, (A) ®B), D) (B
(@) (©), (B) (B) (A), D)
4 (A) (B), B), ©), D)

Question Number : 96 Question Id : 5330722000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the process of Job Analysis in sequence :
(A) Job Specification

(B) Job Description

(C) Strategic Choices

(D) Process Information

(E) Gather Information

Choose the correct answer from the options given below :
(1) (A) (B), (©), (E), (D)

(2 (B), (D), (A), (©), (E)

(3) (O, (E), (D), (B), (A)

(4) (D) (A), ©), (E), (B)
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Question Number : 96 Question Id : 5330722000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sita fargetaor =61 9fshan =i FHHER aftdd & ;

(A) Ste fergreerTon
(B) Sifa fereon
(C) Turfaes gAra
(D) HfsRar TE

(E) 9= GHIHT HEA

= feu o fawredi W | WE I F =TI FIfSU
(1) (A), (B), (O), (E), (D)

(2) (B), (D), (A), (O), (E)

(3) (©), (E), (D), (B), (A)

4) (D). (A), (©), (E), (B)

Question Number : 97 Question Id : 5330722001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps involved in staff employment in an organisation.
(A) Orientation

(B) Selection and Placement

(C) Advertising

(D) Recruiting

(E) Training

Choose the correct answer from the options given below :

(1 ©). A), B), ), (D)

(2)  (©), (D), (B), (A), (E)

(3) Q). (D) (A), (B), (E)

4)  (©). (B) (A), (D) (E)

Question Number : 97 Question Id : 5330722001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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forelt e o sFe=nfeE] =i USTR 34 Hadfi sanl 1 sHafied #1 .
(A)  Ffufe=mrE
(B) = 3 T I

(C) fammm= &
(D) el T
(E)  wfemegor &=

e feu o foeredl W 9 T S = F
(1) (©), (A), (B), E), (D)
2 (©, (D), (B), (A) (B)
(@) (©), (D), (A), (B), (B)
@) (©), (B), (4), (D), (B)

Question Number : 98 Question Id : 5330722002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in order which provide a useful procedural guideline regarding
research :

(A) Extensive literature survey

(B) Formulating the research problem

(C) Analysis of data

(D) Collecting data

(E) Interpretation and report writing

Choose the correct answer from the options given below :
(1) (B), (D), () (A), (B)

@ (A, (B), (), (D), (B)

(3)  (B), (A), (D), (O), (E)

(4) (B), (E) (O) (A), (D)

Question Number : 98 Question Id : 5330722002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa =0 &1 T8 w0 ¥ ot w foay smEym (3iM) & g9y 5 3 g st ant gv=
‘EITRT_E?IT'H%:

(A) =9 Fifefcsr Felar

(B) IS Tl THEAT TR AT

(C) eiieRel = favemo

(D) SIS THF FT

() =14 fofa =reen qen fudie e

= feu o fosredi ¥ | W& I A =TT HIC
(1) (), (D), (), (A), (E)

(2 (A) (B), (), (D), (E)

(@) (B), (A), (D), (), (E)

@) (B), (E), (O) (A), (D)

Question Number : 99 Question Id : 5330722003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the absorption and metabolism of iodine in correct sequence.
(A) lodide

(B) Tri-iodothyronine (T,)

(C) Dietary lodide

(D) Iodine

(E) Thyroxine (T,)

Choose the correct answer from the options given below :
(1) (A), (B), ©, (D) ()

(2 (©). (A), (D), (E), (B)

(3)  (©), (D) (A), (B), (E)

4) (O, (B), (D), (E), (A)

Question Number : 99 Question Id : 5330722003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STrEfed % STEIEY (absorption) SR 3= (Fem@ifeasy) #1 & #0 H =afer #{
(A) =TEIEES

(B) 2ME HAETSIUTHIA (T5)

(C) 3ER HeHl HEFEEs

(D) TErEM

(E) 9rErErEH (T),)

== fen o ferepedl & | T I = FE
(1) (A) (B), (©O), (D), (E)

(2 (©Q), (A), (D), (E), (B)

@) (©Q), (D), (A), (B), (E)

4) (Q), (B), (D), (E), (A)
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Question Number : 100 Question Id : 5330722004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of Extension Program Planning in sequence.

(A) Situation Analysis

(B) Need Assessment

(C) Determining Objectives

(D) Development of Plan of Work

(E) Evaluation of Progress

Choose the correct answer from the options given below :

(1) (D) (©) (A), (B) (B)

@ (A, (B), ), D) (B)
@) B (), ©), E), D)
4) (A), (B), (O), (D), (E)

Question Number : 100 Question Id : 5330722004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forear FPfFRT STEH % Feul &1 50 ¥ TR ;
(A) iftferfa fageroo

(B) HEvHFHA HTFHAH

(C) Zewdl 1 Fuor &

(D) HTE-Arsr 1 Tk

(E) Tl sh1 HearehH

= feu T faehedi § | W@ ST =EE H
™ @) (©) (A). (B). (E)

(2 (A) (B), (©), D), (B)

@) (B), (A), (©), (B), (D)

@) (A) (B) (©), (D) (E)

Question Number : 101 Question Id : 5330722005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of designing a chart in sequence :

(A) Divide content into headings and subheadings

(B) Research the topic from credible sources

(C) Prepare a draft layout with text and visuals

(D) Identify visuals and colour scheme

(E) Design the final layout with text and visuals
Choose the correct answer from the options given below :
(1) (©), (A), ©), D), (B)

@ () (A), ©, (B) (B)

() B, (A), @), (©) )

4  (®) (©) (&) E), D)
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Question Number : 101 Question Id : 5330722005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T =12 & fesed & & =101 &1 %0 § o

(A) Torea agati =1 vffte wa we-videnl # faafaa =i
(B) weEHr Bl ¥ faug & an # vy #{

(C) WIS Wd gvdi & H1Y WHIQ 1 Wl d91
(D) o9 TH T A F vEEH B

(E) w3l ud gvdl & Ty sifaw ey #i fese i
= feu T faehedi © | W@ ST =EE H
(1) (©, (A), (B), (D). (B)

(2 (D) (A), (©). (E), (B)

(@) (B), (A), (D), (C), (E)

4)  (B), (O) (A), E), (D)

Question Number : 102 Question Id : 5330722006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of effective listening.

(A) Don't ask questions to grab attention. Empathise with the speaker.
(B) Be open minded and create a mental picture of what the speaker is saying.
(C) Give genuine feedback, both verbal and non-verbal.

(D) Don't respond in haste, be patient, and wait for your turn.

(E) Establish eye contact and observe the body language of the speaker.
Choose the correct answer from the options given below :

(1) () () (D), (A), (©

@ (B), (D), ) (A), (B)

() ®, (©). (B) (D), (A)

4) () (B) (D), (A) (©

Question Number : 102 Question Id : 5330722006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FYTe T o ST Rl SHEEId H

(A) SEREE SAHERYT % fore e T 99 76 99 | Sed & 9y guayfa o W |
(B) To=m wal W 2R ga1 F FAl 1 AAEE B a9 |

(C) WifEes IR fR-Tifas Sl &1 genef Hieees © |

(D) Sfeel ® Sare T <, Hd T ST STt St o1 SR A |

(B) oi@El § 31y foed IR ge &1 Heba 9191 1 STaeiieh 1 |

= feu o fomredi # € W& 3T W =9I HIET

(1) (), (E), (D). (A), ()

2 (B, (D) (©) (A) (B)
@) (B), (©) (E) (D), (A)
(4) (B), (B), (D), (A), (C)

Question Number : 103 Question Id : 5330722007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the correct sequence of stages of pre-natal development.
(A) Fetal stage

(B) Germinal stage

(C) Embryonic stage

(D) Conception stage

(E) Delivery stage

Choose the correct answer from the options given below :
(1)  (B), (O (E), (A), (D)

(2 (D) (B), (O), (A) (E)

(3)  (A), (B), (C), (D), (E)

(4) (B), (D) (B), (A), (O)

Question Number : 103 Question Id : 5330722007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el -gde forehTe & SO o1 SATRH H YeAaed Hifa
(A)  HIT =

(B)  YO1 SS9 =0

(C) yofta =

(D)  TTHIEE =

(E) w&a =T

9= feu 7o faredi § 9 W& I = 99 Fif90

(1) (B), (O) (E), (A), (D)
(2 (D) (B), (O (A) (B)
(@) (A), (B), (©). (D), (E)
4)  (®, (D) (B), (A) (O
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Question Number : 104 Question Id : 5330722008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stages of language development during infancy.
(A) Intonation

(B) Crying

(C) Babbling

(D) Echolalia

(E) Cooing

Choose the correct answer from the options given below :
(1) (A), (©), (B), (E), (D)

2 (O, (E), (A), (O, (B)

(3) (B), (E), (O (D), (A)

4) (©), (D) (A), (B), (E)

Question Number : 104 Question Id : 5330722008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Srorareen ® oo foeT 3 SN R STTRE H goaafed Hife

(A) =t
(B) T

(C) gaar

(D) IEETIHIT
(E) S

e feu o foeredl & F T S F = FE
1) (A), (©), (B), E), D)
@) (D), (B) (A), Q) (B)
@) (B), (B), (O, (D), (A)
4 (©), (D) (A), (B) (B)

Question Number : 105 Question Id : 5330722009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of Erickson’s stages of psychosocial development :
(A) Initiative Vs. Guilt

(B) Generativity Vs. Stagnation

(C) Identity Vs. Role Diffusion

(D) Ego Integrity Vs. Despair

(E) Trust Vs. Mistrust

Choose the correct answer from the options given below :

(1) (B, (A) (©), (B), (D)

(2 (A)(©), (E), (B), (D)
3)  (©). () (D), (B), (A)
@) (), (B) (A) D) (©)
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Question Number : 105 Question Id : 5330722009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST fosTe o TReEE & =R R ST o goarerd Fifo ;
(A) zffofes o8y firee

(B) Srifefadt ad| A

(C) emEEfed adw e fewrgsH

(D) = 3fefie od| feem

E) TR Y faege

= feu T faehedi § | W@ S =EE H
1 (), (A), (©). (B), (D)

(2 (A)(Q), (B), (B), (D)

@) (©), (B), (D), (B), (A)

@)  (B), (E) (A). (D). (O

Question Number : 106 Question Id : 5330722010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are primary properties of textile fibers ?
(A) Tenacity

(B) Cohesiveness

(C) Luster

(D) Uniformity

Choose the correct answer from the options given below :

(1) (B) and (D) Only

(2)  (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (C) and (D) Only

Question Number : 106 Question Id : 5330722010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fetfefaa & Fuer dqaii % mefas T FH-8 2

(A) Ged
(B) HHSFHI
(C) =¥
(D) TH &I

99 fou U fosredl § § W& 3R H T FHIfAC
(1) e (B) T (D)

(2) ¥ (A), (B) 3R (Q)

(3) & (B), (O) ¥R (D)

(4) F= () ¥R (D)
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Question Number : 107 Question Id : 5330722011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Due to the fibrous surface, threads made from spun yarn possess following properties :
(A) Highly elastic properties
(B) Good sewing performance
(C) Good dimensional stability
(D) Good stitch locking properties
Choose the correct answer from the options given below :
(I) (B) and (C) Only
(2) (B), (D) and (A) Only
(3) (A), (B) and (C) Only
4) (B), (C) and (D) Only

Question Number : 107 Question Id : 5330722011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dqE e T FRO FHAR 9 | 99 G ok fefafe 7o e €
(A) 3= T 0

(B) = Taems = oA

(C) 7= Tomita feerzan

(D) eT=at fezw afeRn

= feu o fasredi § 9 W IW F =TI FGC

(1) = (B) 3R (Q)

(2) = (B), (D) 3 (A)

(3) =@ (A), (B) 3R (Q)

(4) = (B), (C) ¥R (D)

Question Number : 108 Question Id : 5330722012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Types of belts included under “Tie Belt” category :

(A) Spaghetti

(B) Straight tie ups

(C) Bias belt

(D) Contour belt

(E) Rewver belt

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (©) and (E) Only

(3) (©), (D) and (E) Only

4) (D), (C) and (A) Only

Question Number : 108 Question Id : 5330722012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"o S =l % sieria wimfad ded & TR

(A) =

(B) %2 W 3
(C) =m™H ¥

(D) I o=
(E) Yo 9w

e feu o foeredl & 9 T S F = F
(1) == (A), (B) 3R (O)

(2) F= (B), (C) 3 (E)
(3) =@ (C), (D) 3R (E)
(4) e (D), (C) 3 (A)

Question Number : 109 Question Id : 5330722013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Following are the properties of hydrophobic fabric :

(A) It does not absorb perspiration

(B) It tends to have a static build-up

(C) It has better wrinkle recovery

(D) It accepts dyes and finishes more readily

(E) Stain can be easily removed from it

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (E) Only

(3) (©), (D) and (E) Only

(4) (D), (C) and (A) Only

Question Number : 109 Question Id : 5330722013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa Tegias F9g F 0 € :
(A) ¥8 THMH F1 STEwifd e B
(B) =@ A B T

(C) U |eEe STaHET ¥ S &l Sl §

(D) 8 W SN ¥ O =ga € 3R o=t Rl et ©
(E) 39 W ¥ TF-Yed SEHI § 2210 51 b T |

9 feu U fosredi § 9 W& I A =TI HISC

(1) = (A), (B) 3R (C)

(2) F= (B), (C) 3 (E)
(3) =@ (C), (D) 3R (E)
(4) e (D), (C) 3 (A)

Question Number : 110 Question Id : 5330722014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Changes mn perfmmﬂnce of work in the interest of Work Simplifica tion can be grnuped into three
classes. Select the changes from the least to the most impm'tant mn sequence.

(A) Product

(B) Body positions and motions, and sequence of work
(C) Tools, equipments, and work arrangement

(D) Energy spent on activities

(E) Time spent on performing activities

Choose the correct answer from the options given below :
(1) (D), (E), (O) Only

@ (). (©), (A) Only

(3) (A), (D), (C) Only

(4) (A), (D), (E) Only

Question Number : 110 Question Id : 5330722014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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F14 TR0 o fed § *E % Freared § gftacs = dH o § wfed forn s weka €1 Fefafea § 9
Hed 1 ¥ SAYehan Heoqul ageldl hl hHaG o F
(A) IR
(B) YRR = Terfa da Tifa @en = ot shiAehan
(C) I, ITRTU L T BT HTLT
(D) Terarsramdi ot wrft Sl
(E) Torameretmdi =1 41 oA H i 99y
= feu U fosedi H§ ¥ W IW A T R
(1) = (D), (B), (C)

(2) = (B), (O), (A)

(3) A (A), (D), (O)

(4) ¥ (A), (D), B)

)
)

Question Number : 111 Question Id : 5330722015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For maximum usefulness, market segments must exhibit the following characteristics :
(A) Measurability

(B) Substantiality

(C) Action ability

(D) Dependability

(E)  Accessibility

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

(2) (B), (D), (E), (A) Only

(3) (A, (B), (O), (E) Only

(4) (D), (E), (C), (B) Only

Question Number : 111 Question Id : 5330722015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SATeRTY SIS & fou 9 @i # fAefafeg fagmmet = ey yefia & =

(A) A
(B) Hddd
(C) FHrEared
(D) fAsfzan
(E)  sfypmerar

e feu o foreredl & 9 T ST F = FE
(1) 4 (A), (B), (O), (D)

(2) & (B), (D), (E), (A)
(3) @ (A), (B), (O), (E)
(4) == (D), (E), (C). (B)

Question Number : 112 Question Id : 5330722016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In resolving industrial disputes, collective bargaining has been viewed from three perspectives :
(A) As a change in contract language

(B) As a peace treaty between the conllicting parties

(C) As a system of industrial jurisprudence

(D) As a process of company policy

(E) As a process of social change

Choose the correct answer from the options given below :

(1) (A), (B), () Only

(2) (B), (E), (A) Only

@) (E), (B), (C) Only

(4) (B), (A), (O) Only

Question Number : 112 Question Id : 5330722016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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128 e 2 o e 0 e e O e o e A e e o e o 5 e e o enc L e
=TT FL
(A) 3TTEY I AT H YEd o A 9T
(B) TR Taliferdl o WeA Wk Wifa THeAal & q W
(C) T TN =19 YA = JOell o d) 3
(D) @9l ifa =1 9feran & R W
(E) wrrfees 9ftadd st ufshan o 9 9
9= feu T fasredi § 9 W& TR F 959 FIfAC
(1) = (A), (B), (C)

(2) =Fd (B), (E), (A)

(3) 4 (E), (B), (O)

4) %= (E), (A), (©)

)
)

Question Number : 113 Question Id : 5330722017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Culture possesses specific characteristics that shape it :

(A) Culture in transferred

(B) Culture is common sense

(C) Culture is permanent and rewarding

(D) Culture is an adaptable category

(E) Culture in shared among members of the society

Choose the correct answer from the options given below :

(1) (A), (C), (D), €) Only

(@ () (A) (O (E) Only

(3) (A), (B), (O), (D) Only

(4)  (A), (B), (D), (E) Only

Question Number : 113 Question Id : 5330722017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Gexfa 7 fafere fadwan 2t € s @wd €
(A) el siaria @

(B) T |HFT &Y ¥

(C) TEepfa Trlt &K &y we &

(D) weFfa T aTgger Soft 2

(E) HER(d =l THISl o G&&l o HeA 9iE foman =7 ©
= feu o fasedi § | W& I 1 =974 FIfAT
(1) =@ (A4), (O), (D), B)

(2) = (B), (A), (O (B)

(3) = (A), (B), (O), (D)

(4) e (A), (B), (D), (E)

Question Number : 114 Question Id : 5330722018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Assessment of nutritional status through Direct Method is done by :
(A) Anthropometry

(B) Vital Health Statistics

(C) Clinical Examination

(D) Radiological Examination

(E) Biochemical Estimation

Choose the correct answer from the options given below :

(1) (A), (B) (O (E) Only

@ (A, (C), (D), (E) Only

(3) (®) (©, (D), (E) Only

(4) (D), (C), (B), (A) Only

Question Number : 114 Question Id : 5330722018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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graufia feerfa =1 gedid ToIE Ui 9 g9k g Tk e €
(A) TFEfaf (dedi)
(B) HATEIYdE T@ReH Hifeqa® A

(C) “erfer udia
(D) fafrroia wieror (FeAraifsehe sretaTa)
() SieRgmEfes saH

e feu o foreredl & 9 T ST F = FE
(1) 4 (A), (B), (O, (B)

(2) == (A), (O), (D), (E)
(3) @ (B), (C), (D), (E)
(4) a (D), (Q), (B), (A)

Question Number : 115 Question Id : 5330722019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The natural colourants used in food are :

(A) Annatto

(B) Carmosine

(€C) Indigo carmine

(D) Betalaines

(E)  Anthocyanins

Choose the correct answer from the options given below :
(1) (B), (O, (D) Only

(2 (A), (D), (E) Only

(3) (A), (), (D) Only

) (B), (O, (E) Only

Question Number : 115 Question Id : 5330722019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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W o FEnT fFT S STel WishfaE 19 ©
(A) R

(B) TITAT HIEA

(C) ferh i

(D) foerer™

(E) TIrarfg
e feu o foreredl & 9 T ST F = FE
(1) =€ (B), (O), (D)

(2) = (A), (D), (B)
(3) = (A), (©), (D)
(4) = (B), (C), (E)

Question Number : 116 Question Id : 5330722020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The fatty acids known to be essential for complete human nutrition are :
(A) Linoleic acid

(B) Alpha - linolenic

(C) Sterols

(D) Docosahexaenoic Acid

(E) Transfatty Acid

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2 (B), (C) (D) Only

(3) (A), (B), (D) Only

(4) (©), (D) (E) Only

Question Number : 116 Question Id : 5330722020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FTE (Thel) el i WOl A or o for atfHerd o o §, Se R
(A) foreiss s

T Wl W e

(B) ATHI - TAAIAR

(C) TwHew

(D) SFRHRHHEE 3T

(E) giathgl o

= feu o faskedi § | W& I T2 FIfAT

(1) e (A), (B), (C)
(2) %= (B), (O), (D)
(3) = (A), (B), (D)
(4) &= (O), (D), (E)

Question Number : 117 Question Id : 5330722021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The three enzymes produced by the pancreas which continue breaking down proteins into simpler
substances.

(A) Amylase

(B) Trypsin

(C) Hydrochloric Acid

(D) Chymotrypsin

(E) Carboxypeptidases

Choose the correct answer from the options given below :

(1) (C), (D), (E) Only

() (A), (B), (C) Only

(3) (A), (B), (D) Only

(4) (B, (D), (B) Only

Question Number : 117 Question Id : 5330722021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST (HfeRaTsT) BRI Se0 1 UesTeHl ¥ WIEHE 1 TerdH WY T I § arel S €
(A) STHRECE

(B) ifemA
(C) TESEEE 37
(D) HEHIZYREA

() eFreiEeieeay
e feu T foeredl & 9 T I = F
(1) == (C), (D), (E)

(2) EE (A), (B), (C)
(3) @ (A), (B), (D)
(4) = (B), (D), (E)

Question Number : 118 Question Id : 5330722022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the leadership styles from the following :

(A) Laissez - fair

(B) Autocratic

(C) Interactive

(D) Democratic

(E) Bureaucratic

Choose the correct answer from the options given below :
(1) (B), (O, (D) Only

(@) (A), (B), (D) Only

(3) (A), (B), (O) Only

(4) (8), (D), (B) Only

Question Number : 118 Question Id : 5330722022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g el Sl ged H
(A) @&y - e
(B) UekAATE
(C) dreafees fora siteran
(D) WSIdsa
(E) Fretemdl
e feu o foreredl & 9 T ST F = FE
(1) = (B), (C), (D)

(2) = (A), (B), (D)
(3) @ (A), (B), (O)
(4) = (B), (D), (E)

Question Number : 119 Question Id : 5330722023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the PLA Methods :

(A) Resource Map

(B) Bar Graph

(C) Transact Walk

(D) Folk songs

(E) Key Informant Interviews
Choose the correct answer from the options given below :
(1)  (B), (©), (D), (E) Only

(2)  (©), (D), (A), (B) Only

@) (A), (©), (D), (E) Only

4) (D) (E), (A), (B) Only

Question Number : 119 Question Id : 5330722023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oo Ifadl i Teem #
(A) & gEfEs

(B) WRUTH

(C) @R dieh

(D) ek T

(E) HI-ZSHHe 5205

e feu o foreredl & 9 T ST F = FE
(1) ¥4 (B), (©), (D), ()

(2) = (O), (D), (A), (B)
(3) == (A), (O), (D), (E)
(4) == (D), (E), (A), (B)

Question Number : 120 Question Id : 5330722024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the advantages of individual contact method :

(A) Helps in teaching complex practices to the community

(B) Helps in building rapport with the community

(C) Helps in gaining first-hand knowledge from the community
(D) Help in selection of state and national level leaders

(E) Helps in maintaining social norms and rituals

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

2)  (A) (©), (D) Only

(3)  (B), (©), (D) Only

4) (B), (D), (E) Only

Question Number : 120 Question Id : 5330722024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AfeaTd Tk gfadi % el 1 Tea #W
(A) YA F Sifee SHaeril & 9gH H el Fld
(B) HHEHE % WY Heay o § Hewdr yer #ar ©
(C) T | gl F ifoia e o Her B §
(D) T4 TS T TR % el F =g gedn w1 ©
(B) @rifsiers ue wfifer ufemri o1 gfera van o gedr s '
= feu o faskedi § | W& I T2 FIfAT
(1) = (A), (B), (O)
(2) F=@ (A), ©), (D)
(3) =@ (B), (O), (D)
(4) ed (B), (D), (E)

Question Number : 121 Question Id : 5330722025 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Identify limitations of Mass Media :

(A) Very little scope for personal contact with audience

(B) Generalized recommendations hinder application of messages by individuals
(C) Difficulty in getting feedback from audience

(D) Reinforces previous learning of the audience

(E) Large number of people may communicate within a short period of time
Choose the correct answer from the options given below :

(1) (O, (D), (E) Only

(@) (C), (A), (B) Only

(3) (A), (B), (C) Only

(4) (D), (E), (A) Only

Question Number : 121 Question Id : 5330722025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T Hifear 1 Hrmsl i g w7
(A)  Frarsii § SAfaaTd e v 98d 4 Ted
(B) AfeRTeRI R AT STHTHI 1 STV HI & ITIRT H a1e 2l &
(C) grarsdi | wreds e # H HoTr
(D) dransii o e fneror 1 ggg a9 ©
(E) 79 WHa H @Fi o1 agd siel 9&d1 | H59a0]
= feu U forredi § 9 WE ST A =TI FHIWY
(1) = (C), (D), (E)

) = (Q), (A), (B)
(3) = (A), (B), ()
(4) = (D), (E), (A)

Question Number : 122 Question Id : 5330722026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The functions of a family therapist are :

(A) Acts as a collaborator for the whole family

(B) Expresses empathic comments

(C) Demonstrates a caring attitude

(D) Designs a rating scale

(E) Gives birth control advice

Choose the correct answer from the options given below :
(1) (@), (D), (E) Only

(2) (A), (B), (E) Only

@) (A) (B), (C) Only

(4) (B), (D), (E) Only

Question Number : 122 Question Id : 5330722026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 78/103



8/23/24, 12:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

ek STaRaEdl F FEFAT ¢ :

(A) 9 9RER * foTe wednmadl & &9 H i w
(B) HeHyfaer feoafomi =qaa e

(C) @I HAINTE 1 US9H AT

(D) w9 T fesea s

(E) i =1 gaAra o

= feu U fomredi § 9 W& 3T A =TI FHW
(1) = (C), (D), (E)

(2) Fad (A), (B), (E)
(3) @ (A), (B), (O)
(4) = (B), (D), (E)

Question Number : 123 Question Id : 5330722027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mention the common changes in motor abilities experienced by elderly.
(A) Reduced income and entertainment

(B) Decline in mascular strength

(C) Decrease in speed in skilled movements

(D) Reduced reasoning and memory skills

(E) Delay in learning of new skills

Choose the correct answer from the options given below :

() (B), (©), (E) Only

(2)  (A), (B), (E) Only

(3) (B), (O), (D) Only

(4) (©), (D), (E) Only

Question Number : 123 Question Id : 5330722027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TAFIS BRI YT HIeX (o) emaiedi § | uiEd= o Seerd FH e ;
(A) =4 R FARSH H FH

(B) WiwYEa Wi H FH

(C) Ty Tfasiierar 1 i g™

(D) <k 3 TR0 v H FHHI

(B) U =ivier fowgm # faeiem

= feu U fomredi § 9 W& 3T A =TI FHW

(1) = (B), (C), (B)

(2) Fad (A), (B), (E)
(3) @@ (B), (), (D)
4) == (O), (D). (E)

Question Number : 124 Question Id : 5330722028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main characteristics of exceptional children are :

(A) Deviant and different from children of their age

(B) Deviation may fall on positive or negative side of exceptionality
(C) Require special provision in education and adjustment

(D) Usually get social acceptance

(E) Have high self-esteem and confidence

Choose the correct answer from the options given below :

(1) (A), (D), (E) Only

2 (B), (C) (D) Only

(3) (C©), (D), (E) Only

4)  (A) (B), (C) Only

Question Number : 124 Question Id : 5330722028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SYETee =i it gy fosman €2
(A) =191 319 & a= 9 9= &3 feagmmdt
(B) AT9eNfshdl o HehRIcHeA] a1 TehNIcHE faae
(C) Toram &R TwrEeE o fowy wasm= #t ravaes
(D) STHAR 9T | Eitehfd #1 gifa
(E) 3= 37eH §eA SR favam
= feu U fomredi § 9 W& 3T A =TI FHW
(1) Fd (A), (D), (E)

(2) @@ (B), (), (D)
(3) @ (C), (D), (E)
(4) = (A), (B), (O)

Question Number : 125 Question Id : 5330722029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dimensions of well-being during middle adulthood are :
(A) Self-acceptance

(B) Autonomy

(C) Grief and resentment

(D) Midlife crises

(E) Personal growth

Choose the correct answer from the options given below :
(1) (A), (O), (E) Only

@ (A), (B), (E) Only

(3) (C), (D), (E) Only

(4) (B), (©), (E) Only

Question Number : 125 Question Id : 5330722029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T YTyl % S FHedl oF ST §
(A) e il
(B) T

(C) T 3R STl

(D) e HeA Hehe

(E) = gfg

e feu o foeredi § | T S H = F
(1) F=d (A), (O), (E)

(2) %= (A), (B), (E)
(3) @ (C), (D), (E)
(4) = (B), (C), (E)

Question Number : 126 Question Id : 5330722030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Novelty Yarn) (Structure)
(A) Flock Yarn (I)  Short thick pile yarn with soft velvety appearance
(B) Chenille Yarn (I)  Single yarn in which small tufts of fibers are inserted at regular
intervals.
(€) Core-spun Yarn (ITII) Base is heavy and coarse yarn. The effect yarn is curled up

around the base and is held by the binder yarn.
(D) Loop Yarn (IV) Base yarn is completely covered or wrapped by another yarn

Choose the correct answer from the options given below :

1) (A)-(), (B)-(D), (O-(), (D)-(IV)

(2 (A1, (B)-(1), (O-1V), (D))
(3)  (A)-(IV), (B)(III), (C)-(T), (D)-(II)
(4)  (A)I), (B)-(1V), (O)-(1D), (D)-()

Question Number : 126 Question Id : 5330722030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
=) Tt - 11

(7 = ) ( Y=
(A) TR I () e R geadl fe@mEe 9 B SR 11 g9 &% g4
(B) EARE AH 1) uEke ga fod fafrg siaie ) #98 % B 26s o 91 €
(C) -8 7H (L)) 9RT AR SR A9hd | 3Heh 101 G SHAHR T ERORR Bl &
#H ¥k Y gRI 41 B ©
(D) o9 I (IV) MM gd qoid: SHL §d gR1 Fa o 71 2 € |

= feu 7o fawedi § 9 WE I 5 994 FIf90
(1) (A)-D), (B)-(1I), (C)-(IID), (D)-(IV)
(2) (A1), (B)-(1), (O)-(1V), (D)-(11D)
(3)  (A)-(IV), (B)-(II), (C)~(I), (D)~(I)
4)  (A)-(IO), (B)-(IV), (C)-(11), (D)-(I)

Question Number : 127 Question Id : 5330722031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Types of pockets) (Characteristics)

(A) Flap pocket (I)  The opening is visible like a slot and can be finished with a
rectangular piece of fabric standing upwards from the pocket
edge.

(B) Welt pocket (II) The opening is covered with flap, which can be left open or
buttoned down

(C) Bound pocket (III) It is applied on the face (right) side of the garment and can be
made in any number of shapes

(D) Patch pocket (IV) Itlooks similar to a large bound button hole with two pleats of

fabric meeting at the centre of the opening.
Choose the correct answer from the options given below :
(1) (A)HD), (BRI, (C)I), (D)-(IV)
@ (A, (B)-(1), (O-IV), (D))
(3)  (A)-(1I), (B)-(IL), (C)-(I), (D)-(1V)
(4)  (A)-(IV), (B)-(IIT), (C)~(II), (D)-(I)

Question Number : 127 Question Id : 5330722031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs

el -1 el - 11
( UTeRET oh WeRIT ) ( fergraaTa )
(A) TIT TR (I) U 7@ Tk 85 F TE @ 95a1 € 3 30 FI F TR
e | uftgol fopan S wekel & S Uk % fRR & S 1 SR B T
(B) w2 UFhe (1) S9! T 9 | o a1 & S a0 ¥ et & a1 e § Feeer g
Bl
(C) 8T Rk (L) % 6 o FHI AT ST © 371 37796k STIehRi # ST S §hdl & |
(D) Y= U (IV) I 927 & o< sl & GHH TSErE <a1 & 51 =8 o Go 91 97 %

%g H U F g1 T2 % 19 B 2|
4= feu o fawredi | WE I F =T FIfAT
(1) (A-D, (B)}(I), (O~I), (D)-(IV)
(2) (A1, (B)-(), (CO)-(1V), (D)~(1L)
(3)  (A)-(I), (B)-(ID, (C)-(D), (D)-(IV)
4)  (A)-(IV), (B)-(IIT), (C)~(II), (D)~(I)

Question Number : 128 Question Id : 5330722032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(FIBER) [(MICROSCOPIC CHARACTERISTICS)(Longitudinal view)]
(A) Cotton (I)  Presence of cross markings and nodes
(B) Viscose (II)  Flattened, collapsed, spirally twisted tube with a rough surface
and convolutions
(€) Wool (ITlI) Uniform diameter with striations running parallel to fiber axis
(D) Flax (IV) Dregular and roughly cylindrical prominent scale margins.

Choose the correct answer from the options given below :
(1)  (A)-(ID, (B)-(ID), (©O)-(1V), (D)-(I)
(2 (A)-(1V), (B)-(ID), (C)-(I), (D)-(1)
(3)  (A)-(I), (B)-(IV), (C)-(1), (D)-(I)
(4) (A1), (B)-(D), (O)(IV), (D))

Question Number : 128 Question Id : 5330722032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
Tt - 1 T - 11

(79) [ewesita fagraand (smgeiere ofa))]
(A) Far (I) 3AME TRk IR TSl 1 3urefa
(B) foerm (I) TTE Fae AR Feciwy Hied Gaad, T=F ¢ Feoimd gai
(C) A (II) g 74 % HHAMIG 9 % 919 THYHE 9™
(D) wTH (IV) snfFafad 3R sraftssd demmer fafre | & g

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1D), (B)-(I1L), (C)-(1V), (D)-(L)
(2)  (A)-(IV), (B)~(IIT), (C)(T), (D)-(IL)
(3)  (A)-(I), (B)-IV), (O)(L), (D)-(IL)
4)  (A)-(1D), (B)-(), (C)-(1V), (D)-(I1L)

Question Number : 129 Question Id : 5330722033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(Kitchen zones) (Items stored)
(A) Consumable Zone (I)  Khnife, cutting board and gadgets
(B) Cleaning Zone (I1) Pots, lids and other utensils

(C) Preparation Zone (IlT)  Sink, dishwasher and supplies
(D) Cooking Zone (IV) Spices, sugar, tea, coffee and oil
Choose the correct answer from the options given below :

(1) (A)-(U), (B)-(IV), (C)-(1D), (D)-(1)

(@) (AHIV), (B)II), (O)(T), (D)-(I)

(3) (A1), (BUD, (C-IV), (D)-(1)

(4) (A1, (B)-(1), (©)-AV), (D)-(1)

Question Number : 129 Question Id : 5330722033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs

Tt - 1 Tt - 11

( fererT &) (=R foru S arer |mTe )
(A) Susira &9 O 8, FwETEE vE e
(B) WIF-HEE &4 (1) 0, ToFA e 377 A
(C) I &= (1) &, fegamm wa @m g

(D) T T el & (IV) W8T, =1, =E-9, HH U6 da
= fou U fasred § 9 W& I A T FHIC

(1) (A)-(Im), (B)-(IV), (Q)-(1), (D)-(I)

(2)  (AHIV), (B)-(IID), (O)-(1), (D)-(ID)

) )
(3)  (A)AD, (B)-(LI), (C(IV), (D)-(ID)
@) (A1, (B)-(1), (©)-1V), (D)-(0)

Question Number : 130 Question Id : 5330722034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(Type of Risk) (Uncertainty of Future Returns)
(A) Financial Risk (I)  Investor Psychology
(B) Market Risk (I) Capital Market

(€) Purchasing Power Risk (II)  Financial Capacity
(D) Political and Social Risk (IV) Price Level
Choose the correct answer from the options given below :
(1)  (A)-(), (B)-(IV), (O)-(I), (D)-(II)

(2) (A1), (B)-(ILD), (©)-1V), (D)-(I)

(3)  (A)-(IV), (B)-(I), (C)-(III), (D)-(II)

(4)  (A)-(D), (B)-(I), (O-(IV), (D)-(I)

Question Number : 130 Question Id : 5330722034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

( =iifEm & werT ) ( wfere ® ufachelt =t aiffyemar)
(A) o sifam () Teees A
(B) TR SifEw (I1)  si =ER
(C) wraenfaa SifEm (1) forefa aran

(D) TSI e wiTfeer SifEm  (IV) Hed &1
= fou T fomredi # @ W& 3T A =9 FwW
(1) (A, (B)-(IV), (O)-(1), (D)-(I)

(2)  (A)ID), (B)-(D), (O)-(V), (D)-(I)

(3)  (AHIV), (B)(D), (C)-(ILD), (D)-(ID)

(4)  (A)-Imm), (B)-(T), (CR(IV), (D)-(IN)

Question Number : 131 Question Id : 5330722035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Techniques of Work Simplification) (Description)
(A) Micromotion Film Analysis (I} Step-by-step description of the worker
performing entire task
(B) Process Chart (II) Pin and String Method
C) Operation Chart Iy Photographic Device
P e
(D) Pathway/Flow Chart (IV) One particular step is studied in a whole
process

Choose the correct answer from the options given below :
(1) (A)-1D), (B)-(IV), (O)-(I), (D)-(I)
(2)  (A)-(LD), (B)-(I), (C)-(IV), (D)-(II)
(3)  (A)-(I), (B)-(IV), (O)~(I), (D)-(I)
(4)  (A)-(I), (B)-(II), (C)~(II), (D)-(IV)

Question Number : 131 Question Id : 5330722035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - I
( R [TERIUT H Aeh-TeRar ) ( feramor)

(A) wEmERE fren fagemm () i & |equl 1 o A T Her foewy
(B) YEH R (I o9 woe fefin ggfa
(C) A9 =e () wEEfEs feasy
(D) iea /e = e (IV) T3 9feran © U fafeme wen &1 e &

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1D), (B)-(IV), (O)-(1), (D)-(I1I)
(2) (A, (B)~(I), (O)-(IV), (D)-(II)
(3)  (A)-(I), (B)-IV), (O)(L), (D)-(IL)
4)  (A)-(1), (B)-(I), (C)-(11I), (D)-(IV)

Question Number : 132 Question Id : 5330722036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Cost) (Examples)
(A) Hidden Cost (I) Payroll payments
(B) Semi-Variable Overhead Cost (II) Pilferage in delivery points
(C) Food Cost (IIT) Loss due to repair and maintenance
(D) Labour Cost (IV) Loss due to spillage

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(ILL), (C)-(1I), (D)-(I)
(2 (A)-IV), (B)-(IL), (C)-(I), (D)-(1T)
(3)  (A)-(IID), (B)-(ID), (C)-(IV), (D)-(I)
(4)  (A)-ID, (B)-(D), (OIV), (D)-(II)

Question Number : 132 Question Id : 5330722036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - [ = fiers s .

et - 1 T - 11
( T ) ( SgTevoT )
(A) gAY ST () O sFra
(B) sri-uftad+ia sifafisa (sfeEs) @ (I) I &M W g2-72 =1
(C) @ arTa (1) FOHE 3R TEEE % RO THAH
(D) 4fFE @rma (Iv) BaFA (fa@td) = w0 THAE

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1V), (B)-(ILI), (C)(1T), (D)-(L)
(2)  (A)-(IV), (B)~(IIT), (C)(T), (D)-(IL)
(3) (A)-(II), (B)A1D), (O)-(IV), (D)-(I)
4)  (A)-(1D), (B)-(), (C)-(1V), (D)-(I1L)

Question Number : 133 Question Id : 5330722037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - II
(Therapeutic Diet) (Different health conditions)
(A) Alkaline - ash Diet (I) Celiac Disease
(B) Low purine diet (II) Cystine Calculi
(€C) Moderate to low fat diet (III) Obesity
(D) Low calorie diet (IV) Gout

Choose the correct answer from the options given below :

1) (A, (B)-(1D), (O)-(M), (D)-(LV)

() (AHIV), (B)-(D), (C)-(11), (D)-I1)
() (A)-(D), (B)-(IV), (O)-(I), (D)-(I1)
(4) (A1, (B)-(D), (O)-(1V), (D))

Question Number : 133 Question Id : 5330722037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

( Fafwwda amar) ( fafvr= waren feafaar )
(A) HeFARA-UT 3ER () e T
(B) &g HIAT H HRA HARH (I fe=m Fasfa
(C) WiEk | 3769 | H 991 3R (1) Hrer
(D) =79 AT H Heldl 3R (IV) T2

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1), (B)-(II), (C)-(I1), (D)-(IV)
(2)  (A)-(IV), (B)~(I), (C)-(II), (D)-(I1L)
(3)  (A)-(1D, (B)-(IV), (O)-(1), (D)-(11L)
4)  (A)-(1D), (B)-(), (C)-(1V), (D)-(I1L)

Question Number : 134 Question Id : 5330722038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(Programmes) (Beneficiary)
(A) National IDD Control Programme () Below Poverty Line families
(B) Antyodaya Anna Yojna (II) Drought affected states/UT
(€) Mid Day Meal Programme (III) Entire population
(D) Food for Work programme (IV) Primary school children

Choose the correct answer from the options given below :
(1)  (A)-(), (B)-(IV), (O)-(1L), (D)-(I)
(2 (A)-(D), (B)-(ID), (O)-(IID), (D)-(1V)
(3)  (A)-(IV), (B)-(IIL), (C)~(1T), (D)-(I)
(4)  (A)-(D), (B)-(I), (O-(IV), (D)-(I)

Question Number : 134 Question Id : 5330722038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

( =R ) ( wmaredt )
(A) A gl frEam e () e 4§ A= ufEn
(B) A=A 3T HASHI (1) g gyifad T,/ 99 wmiag &
(C) faE T ARR FEFA (1) Equi SFHEE
(D) oFTd = ST FEES (IV) wafbs foemed & a=

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1m), (B)-(IV), (O)(11), (D)-(I)
(2)  (A)(D), (By(I), (C)-(ILI), (D)-(IV)
(3)  (A)-(IV), (B)-(ILI), (O)(1T), (D)-(I)
(4)  (A)-(1I), (B)-(I), (C(1V), (D)-(IT)

Question Number : 135 Question Id : 5330722039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Types of Radio Program) (Salient Feature)
(A) Newsreel (I)  Talk among people and about people involved in news or
events
(B) Interview (I) Radio plays of short duration or in series
(C) DDcurnentaIy (IIT) Eye wilness accounts, extracts of SpEEChES, talks, and
interviews
(D) Radio Drama (IV) A short story of a person, group, organisation or situation

Choose the correct answer from the options given below :
(1)  (A)-(D), (B)-(I), (CO)-(IV), (D)-(II)
(2)  (A)-(D), (B)-(III), (C)-(II), (D)-(IV)
(3)  (A)-(IV), (B)-(I), (C)-(I0I), (D)-(II)
(4)  (A)-(D), (B)-(III), (O(IV), (D)-(IT)

Question Number : 135 Question Id : 5330722039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
it - 1 T - 11

(Yot st & wehT) ( fargroaTa )
(A) —IoHE () GOTERi s7erEn weAel H A 3 wey oiw o & an o wet
A
(B) WIETeRR (II) &9 sfaty steran |ifs # el & Aes
(C) TFa-fa= (I1) 3Tl < feaor, smaoif 3 35T, amid SiK |efeER
(D) Ifedr AEw (1v) foreht =afaa, w9e, S stuan ferfa =1 o o Fert

9= feu 7o fawedi § 9 WE I H 994 Ff90
(1)  (A)-(I), (B)~(I), (CHIV), (D)-(1)
(2) (A1), (B)-(IL), (O)(ID), (D)-(IV)
(3)  (A)(IV), (B)-(D, (C)-(I), (D)~(I)
4)  (A)-(D), (B)-(I), (CHIV), (D)-(II)

Question Number : 136 Question Id : 5330722040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(T'ype of Barriers in Communication) (Example)
(A) Physical and Mechanical Barrier (I) Incorrect translation
(B) Language Barrier (I) Distance
(C) Socio-Psychological Barrier (III) Rules and Regulations
(D) Organisational Barrier (IV) Resistance to change

Choose the correct answer from the options given below :
(1) (A)-(1D), (B)-(III), (C)-(I), (D)-(1V)
(2 (A)-D), (B)-(IV), (C)-(I), (D)-(I)
(3)  (A)-(I), (B)}-(IT), (O)-(IM), (D)-(IV)
(4) (A1), (B)-(I), (O)(1V), (D))

Question Number : 136 Question Id : 5330722040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

( FUHOT W AU o WehTT) ( 32rETT)
(A) wifaer wa T 3@y () 3THT TR
(B) T SFIY (y b
(C) wrHfSieh-HAoF STe () e wd fafram
(D) TEATHE AU (IV) =eamE &g faay

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1)  (A)-(1D), (B)-(I1D), (O)-(I), (D)-(IV)
(2) (A1), (B}(IV), (C)-(II), (D)-(I1L)
(3)  (A)-(), (B)y(L), (O)-(IL), (D)-(IV)
4)  (A)-(1D), (B)-(), (C)-(1V), (D)-(I1L)

Question Number : 137 Question Id : 5330722041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Stages of Group Development) (Purpose)
(A) Forming (I) Learning to work with each-other and co-exist
(B) Storming (II) Getting in action as a cohesive group
(€) Norming (IIT)  Getting to know about each-other
(D) Performing (IV) Challenging each-other

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(ID), (O)-(1V), (D)-(I)
(2) (A1), (B)-(IV), (O)-{), (D)-(11)
(3)  (A)-(ID), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(ID), (B)-(I), (O)-(II), (D)-(1V)

Question Number : 137 Question Id : 5330722041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - [ = fiers s .
it - 1 T - 11

(wqE faesma & | ) (ZEva)
(A) TRIfHT () TH-TH TF e § Fd &1 9rE
(B) TRIfdn (I) GESF TYE F AN I HEWE B
(C) fHT (II1) UH-TEHL o a1 H SRR 9 FHLAl
(D) TRITHT (IV) T TEL T FA <1

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1D), (B)-(I1L), (O)-(1V), (D)-(I)
(2) (A1), (B)-IV), (O)-(1), (D)~(11D)
(3)  (A)-(II), (B)-IV), (O)(L), (D)-(IL)
(4) (A)-(1m), (B)-(I), (C)(1I), (D)-(1V)

Question Number : 138 Question Id : 5330722042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Type of Play) (Meaning)
(A) Functional play (Iy  Play involving use of materials or objects to draw or make
something
(B) Symbolic play (I)  Play involving repetitive motor activity
(C) Constructive play (IlI) Play involving social interactions, physical activity and rules
(D) Formal games (IV) Play involving creating settings, characteristics and scripts

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
(2 (A)-(ID, (B)-(IV), (O)-(1), (D)-(I)
(3)  (A)-(LI), (B)-(I), (C)-(1I), (D)-(IV)
@) (A1), (B)-(IV), (CO)-(ILL), (D)-(IT)

Question Number : 138 Question Id : 5330722042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
it - 1 T - 11

(T & WeRTT) (21ef)
(A) FHHEHE B () e = oA o T o STel |\ A et ¥ wer
(B) WdlehTcHsR el (I) grede e Tiafafy § Ee
(C) HTETeHF B (II1) grferes srferan, vrdfes nifafafy iR fael @ g9 g«
(D) 9= B (IV) goH, garer, faferear =1 fafedi & ga0 @

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1V), (B)~(I), (C)-(IT), (D)-(IIL)
(2) (A1), (B)-IV), (O)-(1), (D)~(11D)
(3)  (A)-(), (B)-(I), (©)-(11), (D)-(IV)
4) (A1), (B)}-(IV), (C)-(LL), (D)-(IT)

Question Number : 139 Question Id : 5330722043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Name of the theorist) (Name of the theory)
(A) Urie Bronfenbrenner (I)  Psychosocial Theory
(B) Jean Piajet () Sociocultural Theory
(C) Erick Erickson (II)  Bioecological Theory
(D) Levs Vygotsky (IV) Cognitive Development Theory

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II), (O)-(1V), (D)-(1)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-(D), (B)-(II), (O)-(I), (D)-(1V)
(4) (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)

Question Number : 139 Question Id : 5330722043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
it - 1 T - 11

( ForgTaeRTT =61 =T ) ( fagra =1 )
(A) IO FTEAST () W g fagia
(B) i faamst (I) GrHss-giERfas g
(© | () 9 i fagia
(D) oo arETeEa® (IV) Seres foepmd Tasid

= fou e fasredi § § W& 3R FEH FHIfAC ;
(1) (A)-(1), (B)-(II), (C)-(IV), (D)-(IIL)
(2) (A1), (B)-IV), (O)-(1), (D)~(1ID)
(3)  (A)-(), (B)y(L), (O)-(IL), (D)-(IV)
(4)  (A)-(1I), (B)-(IV), (O)(1), (D)-(IT)

Question Number : 140 Question Id : 5330722044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Type of research) (Meaning)
(A) Action Research (I)  Research is designed to provide data to support a theory

through its application
(B) Applied Research (I) Research is designed to solve problems through the
application of scientific method

(C) Experimental Research (III) Research is designed to study, understand and explain
events that occurred in past

(D) Historical Research (IV) Research is designed with independent and dependent
variables to study cause and effect

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IL), (CO}(IV), (D)-(IT)

(2 (A1), B)-1), (O~IV), (D)-(I)

(3 (A)-D), (B)-(IV), (C)-(I), (D)-(II)

(4)  (A)-(O), (B)-(T), (C)}(IV), (D)-(II)

Question Number : 140 Question Id : 5330722044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 % W19 gt - 11 = fiers shifs
et - 1 et - 11

( STTHUTT o WehTT ) (ref)

(A) @R FTHEH () STHEYIE & TRE iFe Yo F1 F fau TR 0 e #
IR SeRT SEETT T foRet fagid o1 awei forar s w6 |

(B) SHUgH IEUH (II) o T5fd o SN o HIETH § qRensi 1 GHIEE
% ToTu STHYT™ 1 TRE@ G9R H1 S 2|

(Q) =A== SFTHHH (L) 3Tcta o 52T A1 1 S5AFE 0, e a91 A 1 &
foT, STEMT 1 T TR S ¢

(D) UfdeiEes STEHH (IV) R 3R 9Te 1 3789 oA o foru Tt ofR enfaa aftad-a
Hfed STTHUM 1 TIWE TR F ST ¥

= feu U foeredi © | WE I w1 F7H HIEC
(1) (A1), (B}(I), (O(1V), (D)-(I)
@) (A1, B)-(1), (O~1V), (D)-(II)
(3) (A, (B(IV), (C)-(I), (D)-(11)
(4) (A, (B)AD, (O-(1V), (D)-(I)

Sub-Section Number : 2
Sub-Section Id : 53307283
Question Shuffling Allowed : No

Question Id : 5330722045 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

Rusa Manjhi was a woman Panchayat worker of the Lahiripur Gram Panchayat in the
Sunderbans of West Bengal. She showcased the success of women power in rural development in
the 1980s. Rusa chose to be a Panchayat functionary as she knew it was the right forum to plan
programmes for women, address their needs and have them believe in taking hold on their lives.
Earlier, women in the Sunderbans had to depend entirely on the earnings of their men, most of
whom were engaged in fishing or collecting honey from the wild. The Panchayat Samitis in early
1980s introduced schemes Like DWCRA, TRYSEM and ICDS in the region. This lead to the
participation of women, especially the neo-literate and illiterate women, in entrepreneurial
programmes. Change was also apparent in the growth of social awareness about women'’s rights.
Women came forward to fight their own battles regarding wife-beating, dowry, dessertion and
bigamy. Often husbands did not agree with wives becoming self-sufficient. However, the women
did not give up on their dream of self-empowerment.

Sub questions

Question Number : 141 Question Id : 5330722046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To which state did Rusa Manjhi belong ?
(1) Jharkhand

(2) West Bengal
(3) Orissa
(4) Assam

Question Number : 142 Question Id : 5330722047 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What role did Rusa choose ?
(1) DWCRA functionary

(2) Panchayat functionary
(3) ICDS functionary
(4) TRYSEM functionary

Question Number : 143 Question Id : 5330722048 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The main earnings of the men in the Sunderbans was from ?
(I) Agriculture

(2) Floriculture
(3) Fishing
(4) Hunting

Question Number : 144 Question Id : 5330722049 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which Develnpment ngram was not introduced in the Sunderbans ?

(1) DWCRA

(2) TRYSEM
3] 1ICDS
(4) Sukanya Samridhi Yojna

Question Number : 145 Question Id : 5330722050 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following PLA technique will be most suitable to locate and identify families

engaged n ﬁshj_ng 7

(I) Resource Inventory

(2) Transect Walk
(3) Venn Diagram
(4) Resource Map

Question Id : 5330722045 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)
Question Label : Comprehension
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e feu T Terer = ufew oI wyAT o SWY i

] High ufy=H Sme § grated & Afedql U 9= 1 U Aige Gead Hreend) o | 389 1980
o 7t e § wieen wifda &1 9ol &1 9 far ®91 9 U Y9 dEEa a9 & 999
FHifF o =T off foF = Afeenell & FEE! F1 Ao, ST SRETdl 61 Fe ud 7% sie & ke
H ST SR WeF FR 91N U el U9 © | Uee! Yrated F1 Afeend quid: 3799 g w1 g W AR
off, S goel qehed o Siel 9 et 3ae A W o B 91 1980 % WEy H vara ginfadl 7 & H S99
e HIaINy, TRYY UF SMEHEy Sl Aemrd yrey 1| fawes aftomy wawy, gfeensd fadvea T=-
forfera wel erae wfgened =i safua Srwa o gewfira 9g 72 | 39 W &, afeensii F afusri & an §
ISt STRTERd i 9fe H afteds ot T @ | el i e, Se9, gftam ud fiuei & Hay §
Higent s19 TerE wed % foru st o ot 1w ufq stoet ot i sten fefRa | we= 7 4 At
ufeeeli 9 9 -1 F T99 Fi TE B

Sub questions

Question Number : 141 Question Id : 5330722046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

w41 Aie fFg 15 9 gafya €7
(1) ¥REs

(2) gt sme

(3) Sfem

(4) STETH

Question Number : 142 Question Id : 5330722047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

w1 F TR gfver &1 =94 R ?
(1) Sresegdi=Iia FEEd

(2) vETEd
(3) SSHIETH FrEehal
(4) TEHH HEEA

Question Number : 143 Question Id : 5330722048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g-<tad | Yl hi HHE 1 H=A WY F1 o1 7
(1 =M

(2) ™ SHRA
(3) I Rl
(4) TorEpR =T

Question Number : 144 Question Id : 5330722049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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F 1 faFm FHEET Gotad § g T8 foma 2
(1) EreseqHiamy

(2) zEEH

(3) wrEHETE

(4)  geF THfs A

Question Number : 145 Question Id : 5330722050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea & 9 #M i due qee Toe uhe § Hel TREr F 9 o UE TeaH &g it
A B ?
(1) " =k

(2) o dE

(3) 9= EHEUH

(4) fErE a9
Sub-Section Number : 3
Sub-Section Id : 53307284
Question Shuffling Allowed : No

Question Id : 5330722051 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.

FM radio stations, satellite radio and television channels are major avenues for the growth of
the music ind‘ustry Much of the progranu:njng on FM radio channels, like AIR’s “Vividh Bharti’, is
dedicated to music, primarily to film music. This is equally true of round-the-clock music channels
on television. But besides the dedicated music channels, television programming on all ‘General
Entertainment Channels’ in the various Indian languages includes several music-based genres.
‘Talent Hunt’ programmes focused on singing, dancing and acting are based largely on Indian
film music. One of the channels organised a Talent Hunt programme called ‘Popstars” which
involved the nationwide search for a five member all-girl band of singers. Called "Viva', the winning
band of girls released two albums. In a similar vein a music project called, “The Underground’ was
conducted by Saregama India in Mumbai, Delhi and Kolkata in 1980 to select 30 music performers

(Bands, Artistes and DJs).
Sub questions
Question Number : 146 Question Id : 5330722052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The full form of GEC is ;

(1) Generic Electric Channels

(2) Generic Editing Channels
(3) General Entertainment Channels
(4) General Educational Channels

Question Number : 147 Question Id : 5330722053 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
‘Popstar’ Talent Hunt programme involved the national wide search for a five member band of
singers that included :

(1) Allgirls

(2) All Women
(3) All boys
(4) All men

Question Number : 148 Question Id : 5330722054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a music based programme 7
(1) Talent Hunt

(2) The Underground
(3) Popstar
(4) Shark Tank

Question Number : 149 Question Id : 5330722055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AIR’s “Vividh Bharati’ is dedicated primarily to ?

(1) News

(2) Film Music
(3) Talent Hunt
(4) Documentary

Question Number : 150 Question Id : 5330722056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which one of the following cities, Saregama Production did not introduce a music project 7

(1) Delhi

(2) Mumbai
(3) Chennai
(4) Kolkata

Question Id : 5330722051 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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e feu 7w Tenyr = ufew 2R wvHil o S S

TFRTH e Wy, Yeane fed iR Sfafas == d@iia 32 #i 9fs & 7@ °r €1 THEu
e S W gAia A9 sy S AeREl & fafay urdr” s mefhe w9 fhen g #@
ufifa € | 7% = Sfafasm F Fiita =Hell W ey e g HEwE w W off 99 w9 9 16 e
Wifer Taftda difa ==el & st efafasH & fafim yredm amwedi § e TR o eE’ %
FEFET SATH TG F G W eia 81 A, T o s Sfeg (odiz € s oft e ' 9
YT fien G1itd W enenfia €1 U =9e A 2z 22 (vfawr 9ie) sriw smanfed fean fas  afrer’
ol T o T S SR 3 T HewRiT e & arfaient de, 1 g o fo e’ @ a1 anferenai
& foeran d2 7 S werew 9 foru | wweRe ygfa &1 wiita aftdier fomes = fg sfewnse’ o, 38 aromm
fean g/ 1980 T 30 Tifia weqaehaisii (o FAER T E9) F =521 & fou g8, fooel st Fewm §
EElGEACRIRIE I

Sub questions

Question Number : 146 Question Id : 5330722052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) <R selfaes e
(2) i ufefen I9em
3

)
) A TRIEHE e
)

(4) A TIHIEA =T

Question Number : 147 Question Id : 5330722053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U TR MEE S TEE =99 g it (Uieer’ €2 S § gffe o
(1) T wfoeR™ /et

(2) Tt mfgerd
(3) Gt s
(4) ®f g

Question Number : 148 Question Id : 5330722054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfefas & i =1 Sia snenfa wreiwn 768 €2

(1) ez ge

(2) fe sF=umEs
(3) HTER

(4) U IFH

Question Number : 149 Question Id : 5330722055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) WHER

(2) Trew Hiia
(3) wfaw @
(4) eI

Question Number : 150 Question Id : 5330722056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § ¥ @1 | v # |rem 3 g1t giEs 78 g% o o ?

(1) feeet
2) =

(3) =

(4)  oHICTERT
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